



$$j_k = \rho_3 \{ \vec{\sigma} \vec{m}_j + \tau \}$$

$$j_k \cdot V - V j_k = \rho_3 \{ \vec{\sigma} \vec{m} + \tau \} (U_0 + \rho_1 \vec{\sigma} \vec{U})$$

$$- (U_0 + \rho_1 \vec{\sigma} \vec{U}) \rho_3 \{ \vec{\sigma} \vec{m} + \tau \}$$

$$= \rho_3 \{ (\vec{\sigma} \vec{m} + \tau) U_0 - U_0 (\vec{\sigma} \vec{m} + \tau) \}$$

$$+ i \rho_2 \{ (\vec{\sigma} \vec{m} + \tau) (\vec{\sigma} \vec{U}) + (\vec{\sigma} \vec{U}) (\vec{\sigma} \vec{m} + \tau) \}$$

$$= \rho_3 \{ \vec{\sigma} (\vec{m} U_0 - U_0 \vec{m}) \}$$

$$+ i \rho_2 \{ \vec{\sigma} (\vec{m} \times \vec{U}) + i \vec{\sigma} (\vec{U} \times \vec{m}) + 2 \tau \vec{\sigma} \vec{U} \}$$

$$= 0$$

$$\vec{m} U_0 - U_0 \vec{m} = 0,$$

$$U_0 = U_0 (1)$$

$$\vec{m} \times \vec{U} + \vec{U} \times \vec{m} = 2 \tau \vec{U} = 0$$

$$m_x U_z - m_z U_y + U_y m_z - U_z m_y = 2 \tau U_x$$

$$(\rho_1 \rho_x - \rho_x \rho_1) U_z - U_z (\rho_1 \rho_x - \rho_x \rho_1)$$

$$- (\rho_1 \rho_y - \rho_y \rho_1) U_y + U_y (\rho_1 \rho_y - \rho_y \rho_1) = 2 \tau U_x$$

$$x U_z - \rho_1 \frac{\partial U_z}{\partial x} + x \frac{\partial U_z}{\partial x} + x \frac{\partial U_y}{\partial y} - \rho_1 y \frac{\partial U_y}{\partial x}$$

$$= 2 U_x \quad x \operatorname{div} U - (\vec{r} \cdot \nabla) U$$

$$U_x = x U_x \quad U_z = z U_z \quad \operatorname{div}(\vec{r} \cdot \nabla U) = \frac{\partial}{\partial x} (\vec{r} \cdot \nabla U)$$

$$U_y = y U_y \quad - z^2 \frac{\partial U_z}{\partial x} + x z \frac{\partial U_z}{\partial z} + x z U_z + x y \frac{\partial U_y}{\partial y} - y^2 \frac{\partial U_y}{\partial x}$$

$$= 2 x U_x$$

$$\vec{m}_x \cdot \vec{U}_0 = U_0 m_x = (y p_z - z p_y) U_0 - U_0 (y p_z - z p_y) = 0$$

$$\frac{\partial}{\partial x} \left( \frac{\partial U_0}{\partial x} - t \frac{\partial U_0}{\partial y} \right) = 0$$

$$[m_y, U_z] - [m_z, U_y] = 2it U_x$$

$$[m_z, U_x] - [m_x, U_z] = 2it U_y$$

$$[m_x, U_y] - [m_y, U_x] = 2it U_z$$

$$-i [m_x + im_y, U_z] + i [m_z, U_x + iU_y] = 2it (U_x + iU_y)$$

$$-i [m_x - im_y, U_z] - i [m_z, U_x - iU_y] = -2it (U_x - iU_y)$$

$$m_x U_y - U_y m_x - m_y U_x + U_x m_y = 2it U_z$$

$$m_x [m_x + im_y, U_x + iU_y]$$

$$-i [m_x + im_y, U_x - iU_y] = 4it U_z$$

$$[m_x - im_y, U_x + iU_y] - [m_x + im_y, U_x - iU_y]$$

$$= 4it U_z$$

$$[m_x + im_y, U_z] - [m_z, U_x + iU_y] = -2it (U_x + iU_y)$$

$$[m_x - im_y, U_z] - [m_z, U_x - iU_y] = -2it (U_x - iU_y)$$

$$\{m_x - im_y, [m_z, U_x + iU_y]\} = (m_x - im_y) \{m_z (U_x + iU_y) - (U_x + iU_y) m_z\} - \{m_z (U_x + iU_y) - (U_x + iU_y) m_z\} (m_x - im_y)$$

$$= \{m_x + im_y, m_z\} [U_x + iU_y] + m_z [m_x - im_y, U_x + iU_y]$$

$$= [m_x - im_y, U_x + iU_y] m_z - [U_x + iU_y, m_z] m_x - [m_x - im_y, m_z]$$

$$\begin{aligned}
 & \cancel{2m_2} [x m_y - y m_x, U_z] \\
 & + \{ \quad \} = 2i\hbar \vec{Y} \vec{U} \\
 & + \{ \quad \}
 \end{aligned}$$

$$x (z p_x - x p_z) - y (y p_z - z p_y) = -\gamma^2 p_z + z \vec{p}$$

$$\begin{aligned}
 & + z (x p_x + y) \\
 & - \gamma^2 (\vec{p} \vec{U}) + z \vec{p} (\vec{r} \vec{p}) \vec{U} = 2i\hbar \vec{r} \vec{U} \\
 & - \gamma^2 (\vec{p} \vec{U}) + \vec{r} (\vec{r} \vec{p} - 2i\hbar) \vec{U} = 0 \\
 & z \vec{p} \vec{U} + \frac{\vec{r}}{\gamma} (\vec{r} \vec{p}) \vec{U} = 2i\hbar \frac{\vec{r}}{\gamma} \vec{U} \\
 & \quad \quad \quad \gamma m_z v_y - U_y m_z = \gamma m_z U_y \quad \text{--- } U_y m_z \neq \gamma m_z U_y \\
 & (y m_y + z m_z, U_z) - [y m_z, U_y] = [x m_x, U_x] = 2i\hbar (y U_x - x U_y) \\
 & y (z p_x - x p_z) + x (y p_z - z p_y) \\
 & \cancel{z} [z m_z, U_z] - [m_z, y U_y] - [m_x, x U_x] \\
 & = 3i\hbar (y U_x - x U_y) \\
 & [x m_y - y m_x, U_z] = x m_y - y m_x, \\
 & [m_x, \vec{r} \vec{U}] = -3i\hbar \vec{U} \\
 & - [m_y, \vec{r} \vec{U}] = 2i\hbar \vec{U} \\
 & \{ \vec{m}, [\vec{m}, \vec{r} \vec{U}] \} = \cancel{2i\hbar \vec{r} \vec{U}} \quad \text{--- } 2i\hbar \vec{r} \vec{U}
 \end{aligned}$$



$$m_x (u_x \vec{v} - \vec{v} v_x) - ( )^{14x}$$

$$+ m_y (m_y \vec{v} - \vec{v} v_y)$$

$$+ m_z (m_z \vec{v} - \vec{v} v_z) = 6(u_x)^2 \vec{v}$$

~~(m\_x + m\_y + m\_z, \vec{v})~~

$$m_x m_y v_z - m_x v_z m_y + m_x v_z m_y + m_y v_z m_x$$

$$(m_x m_z v_z + m_z m_x v_z)$$

$$m_x + \frac{1}{2} (\vec{m} + \frac{1}{2} \vec{\sigma}) (U_0 + \vec{\sigma} \cdot \vec{v}) - (U_0 + \vec{\sigma} \cdot \vec{v})$$

$$(\vec{m} + \frac{1}{2} \vec{\sigma})$$

$$\vec{v} = U_0 =$$

$$\vec{\sigma}_y (U_0 v_z) \vec{\sigma}_y (U_0 v_z)$$

$$\vec{\sigma}_x (U_0 v_y) \vec{\sigma}_x (U_0 v_y)$$

$$\vec{\sigma}_z (U_0 v_x) \vec{\sigma}_z (U_0 v_x)$$

$$\vec{m} U_0 - U_0 \vec{m} = 0$$

$$\vec{m} (\vec{\sigma} \cdot \vec{v}) - (\vec{\sigma} \cdot \vec{v}) \vec{m} + \frac{1}{2} \vec{\sigma} (\vec{\sigma} \cdot \vec{v}) - (\vec{\sigma} \cdot \vec{v}) \vec{\sigma}$$

$$m_x U_x - U_x m_x + \frac{1}{2} (\vec{\sigma} \cdot \vec{v}) (U_0 + \vec{\sigma} \cdot \vec{v}) - (U_0 + \vec{\sigma} \cdot \vec{v}) \frac{1}{2} (\vec{\sigma} \cdot \vec{v}) = 0$$

$$m_y U_x - U_x m_y +$$

$$\begin{aligned}
 j_t &= \rho_3 \{ \vec{\sigma} \vec{m} + k \} \\
 j_t (U_0 + \vec{\alpha} \vec{U}) - (U_0 + \vec{\alpha} \vec{U}) j_t &= 0, \\
 \rho_3 (\vec{\sigma} \vec{m} + k) (U_0 + \beta_1 \vec{\sigma} \vec{U}) - (U_0 + \beta_1 \vec{\sigma} \vec{U}) \rho_3 (\vec{\sigma} \vec{m} + k) &= 0 \\
 \circ \vec{m} U_0 - U_0 \vec{m} &= 0, \\
 (\vec{\sigma} \vec{m} (\vec{\sigma} \vec{U}) + (\vec{\sigma} \vec{U}) (\vec{\sigma} \vec{m})) + 2 k \vec{\sigma} \vec{U} &= 0, \\
 i \vec{\sigma} (\vec{m} \times \vec{U}) + i \vec{\sigma} (\vec{U} \times \vec{m}) + 2 k \vec{\sigma} \vec{U} &= 0, \\
 \circ (\vec{m} \times \vec{U}) + (\vec{U} \times \vec{m}) &= 2 i k \vec{U}, \\
 \{ \vec{\sigma} \times (\vec{m} \times \vec{U}) \} + \{ \vec{\sigma} \times (\vec{U} \times \vec{m}) \} &= 2 i k (\vec{\sigma} \times \vec{U}) \\
 \vec{\sigma} (\vec{m} \times \vec{U}) + \vec{\sigma} (\vec{U} \times \vec{m}) &= 2 i k \vec{\sigma} \vec{U}, \\
 y (m_x U_y - m_y U_x) - z (m_z U_x - m_x U_z) &= 2 i k \\
 + y (U_x m_y - U_y m_x) - z (U_z m_x - U_x m_z) &= 2 i k (\vec{\sigma} \times \vec{U})_x \\
 m_z x - x m_z &= i k y, \quad m_x y U_y - y U_y m_x - i k z U_y \\
 m_x y - y m_x &= i k z, \quad - m_y y U_x + y U_x m_y \\
 m_y x - x m_y &= -i k z, \quad - m_z z U_x + z U_x m_z \\
 &\quad + m_x z U_z - z U_z m_x + i k y U_z \\
 m_x (\vec{\sigma} \vec{U}) - (\vec{\sigma} \vec{U}) m_x &= 2 i k (y U_z - z U_y) \\
 - m_z (x U_x) + (x U_x) m_z & \\
 - m_y (y U_y) + \dots &= i k (y U_z - z U_y) \\
 \sim m_x (z U_z) + \dots & \\
 \boxed{\vec{m} (\vec{\sigma} \vec{U}) - (\vec{\sigma} \vec{U}) \vec{m} = i k (\vec{\sigma} \times \vec{U})} & \\
 x (m_y U_z - m_z U_y) + y (m_z U_x - m_x U_z) + z (m_x U_y - m_y U_x) & \\
 + x (U_y m_z - U_z m_y) + y (U_z m_x - U_x m_z) + z (U_x m_y - U_y m_x) & \\
 = 2 i k (x U_x + y U_y + z U_z) & \\
 m_y x U_z - x U_z m_y + i k z U_z + \dots & +
 \end{aligned}$$

$$\vec{m} \cdot (\vec{v} \times \vec{U}) = -\vec{v} \cdot (\vec{U} \times \vec{m})$$
$$\vec{m} \cdot (\vec{v} \times \vec{U}) = -\vec{v} \cdot (\vec{U} \times \vec{m})$$
$$\vec{m} \cdot (\vec{v} \times \vec{U}) = -\vec{v} \cdot (\vec{U} \times \vec{m})$$
$$\vec{m} \cdot (\vec{v} \times \vec{U}) = -\vec{v} \cdot (\vec{U} \times \vec{m})$$



initial state & final state, total angular momentum  
 conservation

$$(\vec{m} + \frac{\hbar}{2}\vec{\sigma})(U_0 + \vec{\sigma}\vec{U}) - (U_0 + \vec{\sigma}\vec{U})(\vec{m} + \frac{\hbar}{2}\vec{\sigma}) = 0$$

$$\text{or } \vec{m} U_0 = U_0 \vec{m} = 0, \quad U_0 = U_0(r)$$

$$(\vec{m} + \frac{\hbar}{2}\vec{\sigma})(\vec{\sigma}\vec{U}) - (\vec{\sigma}\vec{U})(\vec{m} + \frac{\hbar}{2}\vec{\sigma}) = 0$$

$$(\vec{m}_x U_x - U_x m_x = 0$$

$$m_y U_x - U_x m_y = -i\hbar U_z \quad \text{etc}$$

$$(y p_z - z p_y) U_x - U_x (y p_z - z p_y) = 0$$

$$(z p_x - x p_z) U_x - U_x (z p_x - x p_z) = -i\hbar U_z$$

$$U_x U_x = x \cdot U_x$$

$$m_x x U_x - x U_x m_x = (m_x x - x m_x) U_x$$

$$x(m_x U_x - U_x m_x) = 0$$

$$m_x U_x - U_x m_x = 0 \quad (m_x i m_y) \quad m_z U_z - U_z m_z = 0$$

$$m_y U_x - U_x m_y = -i\hbar U_z$$

$$m_z U_x - U_x m_z = i\hbar U_y$$

$$m_x U_y - U_y m_x = i\hbar U_z$$

$$m_y U_y - U_y m_y = 0$$

$$m_z U_y - U_y m_z = -i\hbar U_x$$

$$m_x U_z - U_z m_x = -i\hbar U_y$$

$$m_y U_z - U_z m_y = i\hbar U_x$$

$$m_z U_z - U_z m_z = 0$$

$$(m_x + i m_y) U_z - U_z (m_x + i m_y) = -\hbar (U_x + i U_y)$$

$$(m_x - i m_y) U_z - U_z (m_x - i m_y) = \hbar (U_x - i U_y)$$

$$m_x (U_x + i U_y) - (U_x + i U_y) m_x = -\hbar U_z$$

$$i m_y (U_x + i U_y) - (U_x + i U_y) i m_y = \hbar U_z$$

$$(m_x - i m_y) (U_x + i U_y) - (U_x + i U_y) (m_x - i m_y) = -2\hbar U_z$$

$$(m_x + i m_y) (U_x - i U_y) - (U_x - i U_y) (m_x + i m_y) = 2\hbar U_z$$

$$(m_x - i m_y) (m_x + i m_y) U_z$$

$$-2(m_x - i m_y) U_z (m_x + i m_y) + U_z (m_x + i m_y)$$

$$- (m_x + i m_y) U_z (m_x - i m_y) = 2\hbar U_z$$

$$\begin{aligned}
 & m_y(xU_y - yU_x) - (xU_y - yU_x)m_y \\
 & = -i\hbar z U_y - y \hbar (-i\hbar U_z) = (i\hbar)(y U_z - z U_y) \\
 -x_1 & p_x(xU_y - yU_x) - (xU_y - yU_x)p_x \\
 & = (-i\hbar)U_y + x(p_x U_y - U_y p_x) \\
 & \quad - y(p_x U_x - U_x p_x) \\
 & = (-i\hbar)U_y + x(p_x U_y - U_y p_x) = i\hbar U_y \\
 & \quad - (x p_y U_x - U_x p_y) + i\hbar U_y \\
 & \quad - x p_x \\
 & = p_x(xU_y - yU_x) - (xU_y - yU_x)p_x \\
 & \quad + p_x(xU_y - yU_x) - (xU_y - yU_x)p_x \\
 & = x(p_x U_y - U_y p_x) - y(p_x U_x - U_x p_x) + U_x p_x \\
 & = z(p_x U_y - U_y p_x) - y p_x U_x + U_x p_x \\
 & = z(p_x U_y - U_y p_x) - y p_x U_x + U_x p_x \\
 & = z(p_x U_y - U_y p_x) - y p_x U_x + U_x p_x \\
 & \therefore (z p_x - x p_z)(xU_y - yU_x) - (xU_y - yU_x)(z p_x - x p_z) = 0 \\
 & \therefore [y U_z - z U_y] = 0
 \end{aligned}$$

$$\begin{aligned}
 & x \cdot m_x U_x - U_x x m_x = 0 \\
 & y \cdot m_x U_y - U_y y m_x = i \hbar U_y \\
 & z \cdot m_x U_z - U_z z m_x = -i \hbar U_z
 \end{aligned}$$

$i \hbar U_z$   
 $y m_x -$

$$m_x \vec{r} \cdot \vec{p} - \vec{r} \cdot \vec{p} m_x = i \hbar z U_y + i \hbar y U_z = i \hbar z U_y - i \hbar y U_z$$

$$\vec{r} \cdot \vec{p} - \vec{p} \cdot \vec{r} = 0$$

$$\begin{aligned}
 U_x &= x \cdot U \\
 U_y &= y \cdot U \\
 U_z &= z \cdot U
 \end{aligned}$$

$$(x^2 + y^2 + z^2) U = f(r), \quad U = f(r)$$

$\vec{r} \cdot \vec{p} - \vec{p} \cdot \vec{r}$   
 initial state, final state, spin or  $\hbar \omega$   
 $I = \hbar \omega$  to  $s \cdot \omega$ .

$$\vec{m}_x + \vec{I} = \vec{m}' + \vec{I}'$$

$$\vec{I} = \vec{I}' \text{ or } \vec{I} \neq \vec{I}'$$

$$\vec{m} = \vec{m}'$$

in  $\hbar \omega$ ,  $\vec{I} = \vec{I}'$  or  $\vec{I} \neq \vec{I}'$ ,  
 $\vec{m} = \vec{m}'$